















## **Analyzing a Regular Expression**

 $L((a \cup b)^*b) = L((a \cup b)^*) L(b)$ =  $(L(a \cup b))^* L(b)$ =  $(L(a) \cup L(b))^* L(b)$ =  $(\{a\} \cup \{b\})^* \{b\}$ =  $\{a, b\}^* \{b\}.$ 

たく語うにはないとうとない。

From English to reg exps $L = \{w \in \{a, b\}^*: |w| \text{ is even}\}$  $L = \{w \in \{0, 1\}^*: w \text{ is a binary representation of a positive multiple of 4}\}$  $L = \{w \in \{a, b\}^*: w \text{ contains an odd number of a 's}\}$ 

## **The Details Matter**

 $L(a^* \cup b^*) \neq L((a \cup b)^*)$ 

 $L((ab)^*) \neq L(a^*b^*)$ 





















